O, @ ® ® ®

600 600 600 600
D
1587.5 g 102.5 | 340 , 112.5 2015 230
— Omm B BRI
~10mm B EEERyE b D
P N A AU | B ommtASEMREML
TR O m {REMIE T
214
o [ ‘ 4 214 | J |
g N 1 S RERE TS AR
RFL=0L+715 . % .
L N | I[
§ﬁ s
=3 o It J935 b 340 b 457.5 15
~ 1 ] Nl ]
T | o o
(=} =
o N S0 T N N J -
~ LA \“‘ LT 0cm edimats L4 i
N o | | ‘ 92.5 1,;@
s ﬁ? 25038 $1117.5 z 22( O o e 115 T $192.5 19 0
s il : / Al 7 | -
~
5 e HETTT LT ]
> _ LR Col = ~ L
_— 55%% | | S . | ) ||F A = fh e |[*F6 S =
=GL+ L |11 | N | N || -
S o0 S = - — : oL
o [e®) /N - - - - - T T T T T T T T T T T AN - - - - - - - T T T T T T T T T T T T T an :::::ii:?i:;i::::::i::::::ii::ii:i: 4N - - T T T T T T T T T
N Aﬁ | 1 r-———— | t=——- al r-———- | === al } } r-——— | -=——— nl [ —
A = EEEEEE%EEEEEE% E}Ezzzzﬁzzzzzz% EEEEEE%EEEEEE%::" E}ézzzz%izzzzzé}a E}Ezzzzﬁ .
‘ 10cm 2000psi PCEF

—10cm 2000psi PCE&¥

——15cm BHRR S E 15cmBAkic 5 E
VU i [2 _
1) Hll TR s=1/100
e e E A e i 4 0 N Y o g Hi”ﬂ = L R R = THEEZE | BHitEGZHEL T EE - BR BBIR 1 /100 || gge

y T y \ﬁ‘“\ﬂ |] 1= = |0 = =g = AP =~ — = s | 5 B S RT I == BB B
| [— 1 lee A4

o o | j S 2 Taman | wom w0 o

- W ) H] e e

Al : BRTPTEE R 7% L er T Y 2y S N 2] L . - T
i 1 06-2281239 HH :06-2284248 AN = ?’}Eﬂg% Bl <7;g s iR o ﬂiﬂj> - i i .
P torch1@ns5) hinet net MNEP = S 0R0% (ERm LB H#H02 — B Gl A3 N




